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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 2 l r3 = 1 l ρ3 = 1 l
R4 = 2 l r4 = 1 l ρ4 = 1 l
m1 = 2 lm2 = 24 l
m3 = 64 lm4 = 256 l
m5 = 512
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l
R4 = 4 l r4 = 2 l ρ4 = 3 l
m1 = 2 lm2 = 8 l
m3 = 32 lm4 = 144 l
m5 = 72
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l r3 = 2 l ρ3 = 3 l
R4 = 5 l r4 = 2 l ρ4 = 4 l
m1 = 4 lm2 = 16 l
m3 = 180 lm4 = 441 l
m5 = 294
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l r3 = 1 l ρ3 = 3 l
R4 = 4 l r4 = 1 l ρ4 = 3 l
m1 = 6 lm2 = 12 l
m3 = 6 lm4 = 25 l
m5 = 25
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 3 l r3 = 2 l ρ3 = 2 l
R4 = 3 l r4 = 1 l ρ4 = 2 l
m1 = 2 lm2 = 20 l
m3 = 4 lm4 = 16 l
m5 = 8

c
uvwvxv yz{{|�| �E�CDEF �F��D@�

�

� �
�

� ��

?
M

R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l r3 = 2 l ρ3 = 3 l
R4 = 5 l r4 = 2 l ρ4 = 4 l
m1 = 2 lm2 = 16 l
m3 = 144 lm4 = 27 l
m5 = 16
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 5 l r3 = 2 l ρ3 = 4 l
R4 = 2 l r4 = 1 l ρ4 = 1 l
m1 = 2 lm2 = 24 l
m3 = 16 lm4 = 24 l
m5 = 16
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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 4 l r3 = 2 l ρ3 = 3 l
R4 = 3 l r4 = 2 l ρ4 = 2 l
m1 = 8 lm2 = 24 l
m3 = 28 lm4 = 6 l
m5 = 10
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l r3 = 1 l ρ3 = 3 l
R4 = 2 l r4 = 1 l ρ4 = 1 l
m1 = 2 lm2 = 24 l
m3 = 4 lm4 = 75 l
m5 = 50
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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 3 l r3 = 2 l ρ3 = 2 l
R4 = 4 l r4 = 1 l ρ4 = 3 l
m1 = 8 lm2 = 12 l
m3 = 175 lm4 = 384 l
m5 = 3200
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l r3 = 2 l ρ3 = 3 l
R4 = 3 l r4 = 2 l ρ4 = 2 l
m1 = 4 lm2 = 24 l
m3 = 20 lm4 = 100 l
m5 = 150
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l
R4 = 4 l r4 = 2 l ρ4 = 3 l
m1 = 2 lm2 = 8 l
m3 = 32 lm4 = 144 l
m5 = 144
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 2 l r3 = 1 l ρ3 = 1 l
R4 = 4 l r4 = 1 l ρ4 = 3 l
m1 = 2 lm2 = 12 l
m3 = 8 lm4 = 6 l
m5 = 2
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 5 l r3 = 2 l ρ3 = 4 l
R4 = 4 l r4 = 1 l ρ4 = 3 l
m1 = 2 lm2 = 16 l
m3 = 16 lm4 = 120 l
m5 = 800
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 5 l r3 = 2 l ρ3 = 4 l
R4 = 2 l r4 = 1 l ρ4 = 1 l
m1 = 2 lm2 = 24 l
m3 = 36 lm4 = 27 l
m5 = 18
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l
R4 = 5 l r4 = 2 l ρ4 = 4 l
m1 = 2 lm2 = 16 l
m3 = 32 lm4 = 48 l
m5 = 128
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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 4 l
R4 = 3 l r4 = 1 l ρ4 = 2 l
m1 = 2 lm2 = 20 l
m3 = 8 lm4 = 27 l
m5 = 36
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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 4 l r3 = 2 l ρ3 = 3 l
R4 = 4 l r4 = 2 l ρ4 = 3 l
m1 = 2 lm2 = 8 l
m3 = 256 lm4 = 192 l
m5 = 32
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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 5 l r3 = 2 l ρ3 = 4 l
R4 = 3 l r4 = 1 l ρ4 = 2 l
m1 = 2 lm2 = 20 l
m3 = 196 lm4 = 196 l
m5 = 98
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 4 l
R4 = 3 l r4 = 1 l ρ4 = 2 l
m1 = 2 lm2 = 8 l
m3 = 8 lm4 = 3 l
m5 = 2
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R2 = 4 l r2 = 2 l ρ2 = 2 l
R3 = 5 l r3 = 2 l ρ3 = 4 l
R4 = 3 l r4 = 1 l ρ4 = 2 l
m1 = 2 lm2 = 8 l
m3 = 196 lm4 = 147 l
m5 = 196

c



uvwvxv yz{{|��| ­AE�EF  DDE��D�@�

�

�

�
�

� -F R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 4 l r3 = 1 l ρ3 = 3 l
R4 = 3 l r4 = 1 l ρ4 = 2 l
m1 = 6 lm2 = 8 l
m3 = 54 lm4 = 324 l
m5 = 324
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R2 = 4 l r2 = 2 l ρ2 = 3 l
R3 = 4 l
R4 = 4 l r4 = 1 l ρ4 = 3 l
m1 = 10 lm2 = 16 l
m3 = 16 lm4 = 112 l
m5 = 96
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